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Part Il

Based on the graph and corresponding equations for each pool, answer the following questions.
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4y, | Given the fllowing equations, perform the operations that arereauired.  \Afrite these in!
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5. Use the graph to answer the following questions.

a. Where does f(x) = g(x)?

b (2;<5) (4)

. Whatis f(4) % g(4)?
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6, Use the graph to answer the following questions.
a.Whereisr(x) > h(x)?

b. Whatis r(1) - hg

c.Whatisr(0) + h(0)?
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7. How do you know if something is a function or not? Explain for the f ollmné VQL\KS Cm N‘ ’ l
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8. Find the domain and range for the following. Be sure to watch the brackets and parentheses.
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9. Swine Fluis attacking Porkol below determins how many people have swine fluwhere t=time in
days and S=the number of
b. What does S(4) mean?

a. Find s(8). q(q) L\ % A‘I‘m\{ q' QM'P@/&R

c. Find twhen S(t) =23 mean. d. What does S(t) = 23 mean?
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3.6 Interpreting Functions
A Practice Understanding Task
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Quiz #2 Today!
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For each equation, sketch a graph and describe the key features of the graph.
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